

						_ Dates	
Company	Gahanna PD	Contac	t Lt. Spence		)(	First Contact	
Address			- <u></u>		11	Quote Issued	04/05/10
City	Gahanna	State	Ohio			Accept/Reject	
ZIP		Email				Purchase Order	
Phone	614-342-4205	Fax			八		
Product/S	Name in the second				Quantity	Price	TOTAL
	provide and install be	ow listed equ	inment and custome	er	Quantity	File	IOIAL
	equipment into custom			<b>J</b> .			
1	ZJOT-425-6138 12" C			· & 3	1 1	\$268.41	\$268.41
1	accessory plugs.				,	<b>V</b> 200111	<b>\$200.</b> 1 1
2	ZJOT-425-6035 Mic c	ip faceplate r	mount		2	\$8.41	\$16.82
3	ZTRO-AC-ARMMNT				1	\$98.82	\$98.82
4	ZHAV-DS-PAN-101 D				1	\$639.00	\$639.00
5	ZHAV-C-HDM-104 Ba				1	\$84.82	\$84.82
6	ZHAV-C-HDM-202 8.5		•		1	\$130.94	\$130.94
7	ZHAV-C-MD-102 Swir				1	\$259.32	\$259.32
8	ZHAV-LPS-101 Power	-			1	\$152.50	\$152.50
9	ZGAM-13792 Lind Tin				1	\$70.58	\$70.58
10	ZGAM-7160-0018 Up		,		1	\$331.94	\$331.94
11	ZGAM-7160-0020 Lov				1	\$291.17	\$291.17
12	ZGAM-7160-0019 Dua	al storage box	(es		1	\$295.05	\$295.05
13	ZCOD-RX2747 LED L				1	\$2,117.64	\$2,117.64
14	ZCQD-RLS3997R Sire				1	\$833.31	\$833.31
15	ZCOD-36PARCR Fog				1	\$103.38	\$103.38
16	ZCOD-36PARCB Fog				1	\$103.38	\$103.38
17	ZCOD-LFAMP Low Fr				·  1	\$200.09	\$200.09
18	ZCOD-C3100LFDCH	Low Frequenc	cy speaker w/bracke	et	1	\$167.63	\$167.63
19	HLN9073B Mic clip				3	\$0.90	\$2.70
20	Sales-CDM1550LS Mo	otorola UHF F	Radio		1	\$685.00	\$685.00
Continue	d on page 2:		. <del></del> _		<u> </u>		
	Submitted by: Jerry Ban	dy				Sub Total	\$6,852.50
					Freight	01-1-	15 A
				Ì	Taxes	State I ax	If Applicable
	4/5/2010					TOTAL	
DAIL	<u>4/5/2010</u>				Notes	IOIAL	
NET 30 I	DAYS, PROPOSAL VA	LID FOR 30 I	DAYS.	1 (			
, , , , , , , , ,		<b>.</b> .			Page 1 of 3		
(				1			
			. <u></u> .	ノー			
Office Use	Only						



				Dates	
Company	Gahanna PD Contact Lt. Spence		$\mathcal{L}$	First Contact	
Address				Quote Issued	04/05/10
City	Gahanna State Ohio			Accept/Rejec	
ZIP	Email		11	Purchase Order	
Phone	614-432-4205 Fax		八		
Product/S	Service		Quantity	Price	TOTAL
	ed from page 1:	-		71.00	\$6,852.50
21	0180355A99 Antenna Mount kit w/17' cable		2	\$14.11	\$28.22
22	ZTES-461756 UHF Low Profile Antenna		1	\$22.91	\$22.91
23	ZTES-471897 800 Low Profile Antenna		1	\$21.81	\$21.81
24	ZKER-PDU42W Power Distribution Unit		1	\$252.35	\$252.35
25	ZPRO-G5000UT Gunlock		1	\$242.11	\$242.11
26	ZFS-ES100 Siren Speaker		1	\$159.46	\$159.46
27	ZFS-ESBCRG07 Speaker bracket		1	\$12.94	\$12.94
28	ZWHE-PSCOCDCR 6 LED Light stick		1	\$86.82	\$86.82
29	ZWHE-VTX609C Vertex Corner LED		4	\$84.70	\$338.80
30	ZWHE-RSC03ZCR TIR3 Clear lens, clear LED		2	\$69.17	\$138.34
31	ZWHE-RBKT7 TIR3 Bracket		1 1	\$13.41	\$13.41
32	ZWHE-D4RBRB Dominator 4 LED Red/Blue/Red/Blue		i	\$221.64	\$221.64
33	ZWHE-D4BBBC Dominator 4 LED Blue/Blue/Clear	r	i	\$221.64	\$221.64
34	ZWHE-DBKT4 Dominator 4 Angle Mounting bracket		1	\$14.82	\$14.82
35	ZWHE-PEIMDC08 Intelligent flasher		1	\$221.64	\$221.64
36	ZWHE-RSR03ZCR TIR3 LED Red LED Clear lens		1	\$69.17	\$69.17
37	ZWHE-RSB03ZCR TIR3 LED Blue LED Clear lens		1	\$69.17	\$69.17
38	ZCRU-PCM002A Rear Prisioner Seat, black		1	\$295.48	\$295.48
39	ZCRU-DPL017A Rear Door panel set, black		1	\$119.41	\$119.41
40	ZSET-10-S Coated Polycarb Partition w/slider		1	\$427.41	\$427.41
41	ZSET-EXPANELPAR Full expansion panel		1	\$46.94	\$46.94
42	ZSET-PB400CG06 Push Bumper		1	\$188.58	\$188.58
Continue	d on page 3:				
	Submitted by: Jerry Bandy			Sub Total	\$10,065.57
		\	Freight		
		}	Taxes	State Tax	If Applicable
	4/5/2010			TOTAL	
	4/5/2010		Notes	IOIAL	
NET 30 [	DAYS. PROPOSAL VALID FOR 30 DAYS.	1 1			
	•		Dama 0 of 2		
			Page 2 of 3		
(		)			
		/			
Office Use	Only				
1	•				



				Dates	
Company	Gahanna PD Contact Lt. Spence		$\mathcal{L}$	First Contact	
Address			- 11	Quote Issued	04/05/10
City	Gahanna State Ohio		11	Accept/Rejec	
ZIP	Email		- 11	Purchase Order	
Phone	614-342-4205 Fax		八		
Product/S	ervice	_	Quantity	Price	TOTAL
Continue	d from page 2:				\$10,065.57
43	ZBLA-EDN12H0020 Serial Cable		1	\$42.10	\$42.10
44	ZINT-Battery box		1	\$11.76	\$11.76
45	ZINT-MTP-H7 Battery		1	\$147.05	\$147.05
46	MISC - Supplies and required electronic hardware		1	\$750.00	\$750.00
47	Installation of above listed equipment and customer provequipment (listed below).	rided	1	\$1,950.00	\$1,950.00
Note 1	Customer provided equipment: Safety Vision camera systag-light charger, On Com Rocket modem and antenna radar, stop stick, fire extinguisher, secure idle, XTL5000 radio and misc.  All wiring sufficient gauge to am load, all necessary hard fuses, and circuit breakers, to be provided. All wiring will loomed and/or taped per customer spec.	s, ware			
	Submitted by: Jerry Bandy			Sub Total	\$12,966.48
	Cubinities by . Serry Danty		Freight	Oub rotal	\$220.00
		<b>\</b>	Taxes	State Tax	If Applicable
DATE	<u>4/5/2010</u>	•	Notes	TOTAL	\$13,186.48
NET 30 I	DAYS, PROPOSAL VALID FOR 30 DAYS.	/			
1421 001	SATO. THOS GOVE WILLD FOR GO BANG.		Page 3 of 3		
		/ (			
Office Use	Only				
L					



		·				_ Dates	
Company	Gahanna PD	Contact	t Lt. Spence		)(	First Contact	
Address	Garlatina i D	0011100	Lt. Opendo	-	IJ	Quote Issued	04/01/10
City	Gahanna	State	Ohio	•		Accept/Reject	-
ZIP		Email	<u> </u>	•		Purchase Order	
Phone	614-342-4205	Fax		•	Jl		
Product/S					Quantity	Price	TOTAL
	install below listed equip		customer provided	equip-			
	customer's 2010 Chevy 7						
1	ZHAV-C-2410 24" Conso			3	1	\$294.82	\$294.82
2	ZHAV-C-CUP2 Dual inter				1	\$34.58	\$34.58
3	ZHAV-C-LP-3 Accessory				1	\$36.23	\$36.23
4	ZHAV-C-ARM-105 Adjust	table arm r	est		1	\$106.23	\$106.23
5	ZHAV-C-MC Mic clips				5	\$9.05	\$45.25
6	ZHAV-C-MB Mic clip brac				2	\$11.52	\$23.04
7	ZHAV-C-HDM-102 Vehic	le base mo	ount		1	\$73.29	\$73.29
8	ZHAV-C-HDM-202 Teleso	coping pol	e 8.5		1	\$130.94	\$130.94
9	ZHAV-C-MD-103 Action a	adapter pu	llout, swivel		1	\$268.37	\$268.37
10	ZHAV-C-HDM-401 Suppo	ort brace			1	\$53.52	\$53.52
11	ZHAV-DS-PAN-101 Dock	ing Station	า		1	\$639.00	\$639.00
12	ZHAV-LPS-101 Power Su	apply 90w,	3'cable		1	\$152.50	\$152.50
13	ZHAV-C-HDM-403 Device	e Mounting	g platform		1	\$56.82	\$56.82
14	Sales-Motorola CDM1550			nels	1	\$685.00	\$685.00
15	Moto-XTL5000 Radio 800	Mhz, w/ke	ypad microphone		1	\$4,794.20	\$4,794.20
16	ZSET-10-VS Partition Ca				1	\$518.00	\$518.00
17	ZSET-12-VS Rear Cargo	Partition of	coated w/polycarb w	<i>i</i> indow	1	\$394.47	\$394.47
18	ZPRO-G5000UT Gunlock	(			1	\$242.11	\$242.11
19	ZLUN-SSTB Dual drawer	SecureSt	or Vault		1	\$1,645.88	\$1,645.88
20	ZGAM-13792 Lind Timer				1	\$70.58	\$70.58
Continue	d on page 2:						
	Submitted by: Jerry Bandy	_				Sub Total	\$10,264.83
					Freight		
(				}	Taxes	State Tax	If Applicable
DATE	<u>4/1/2010</u>				Notes	TOTAL	
					140103		
NET 30 I	DAYS. PROPOSAL VALIC	FOR 30 (	DAYS.		(		`
					Page 1 of 3		
(				)			
				/ '			
				ī			
Office Use	Only						



						Dates	
Company	Gahanna PD	Contact	Lt. Spence		)(	First Contact	
Address				=		Quote Issued	04/01/10
City	Gahanna	State	Ohio	•		Accept/Rejec	
ZIP		Email		•		Purchase Order	
1	614-342-4205	Fax		•	Д		
				•			
Product/S					Quantity	Price	TOTAL
	d from page 1:						\$10,264.83
21	ZDR-PDU42W Power				1	\$252.35	\$252.35
22	ZCOD-DF52GP Defer				1	\$3,377.49	\$3,377.49
23	ZCOD-RLS3997R RLS				1	\$833.31	\$833.31
24	ZCOD-NASL839-RAA				1	\$860.31	\$860.31
25	ZCOD-36PARCR Fog				1	\$103.38	\$103.38
26	ZCOD-36PARCB Fog				1	\$103.38	\$103.38
27	ZGOR-3160MB GoRh				1 .	\$442.41	\$442.41
28	ZWHE-PSCOCDR Lig	ht stick w/6 w	hite LED		2	\$86.82	\$173.64
29	ZWHE-VTX609C Vert	ex Corner LEI	D Clear		4	\$84.70	\$338.80
30	ZWHE-VTX609D Verte	ex Split LED F	Red/clear		1	\$88.23	\$88.23
31	ZWHE-VTX609E Verte	ex Split LED E	Blue/clear		1	\$88.23	\$88.23
32	ZWHE-VTXFB Flange	mount black			2	\$6.00	\$12.00
33	ZWHE-RSC03ZCR TI	R3 LED Light	Clear/clear		2	\$52.80	\$105.60
34	ZWHE-D2BR Dominat	or 2 LED Blue	e/Red		3	\$146.82	\$440.46
35	ZWHE-D2RB Dominat	or 2 LED Red	l/Blue		3	\$146.82	\$440.46
36	ZWHE-UHF2150A He	adlight/tail ligh	nt flasher unit		1	\$43.76	\$43.76
37	ZFS-ES100 Dynamax	100w speake	r		1	\$159.46	\$159.46
38	ZFS-ESBTAH08 Spea	ker bracket			1	\$12.93	\$12.93
39	ZTES-461756 UHF Lo				1	\$22.91	\$22.91
40	ZTES-47897 800Mhz	Low profile an	tenna		1	\$21.81	\$21.81
41	0180355A99 Antenna	mount kit w/1	7' cable		2	\$14.11	\$28.22
Continue	d on page 3		•				
Contando	Submitted by: Jerry Band	rlv				Sub Total	\$18,213.97
					Freight	000 / 000	Ψ10,210.01
(				)	Taxes	State Tay	If Applicable
				·	Taxes	Otate Tax	ii Applicable
DATE	4/1/2010					TOTAL	
D, (12					Notes	IOIAL	<u> </u>
NET 30 E	DAYS. PROPOSAL VA	LID FOR 30 E	AYS.				
					Page 2 of 3		
		/					
				ノし			
		-					
Office Use	Only						
	-						



						_ Dates	
Company	Gahanna PD	Contact	t Lt. Spence		)(	First Contact	
Address	Cananara		<u> </u>	-		Quote Issued	04/01/10
City	Gahanna	State	Ohio	-		Accept/Reject	
ZIP		Email		-	11	Purchase Order	
Phone	614-342-4205	Fax		• •			
Product/S	ervice				Quantity	Price	TOTAL
Continue	d from page 2:						\$18,213.97
42	MISC - Supplies an	d required electr	ronic hardware		1	\$750.00	\$750.00
43	installation of above equipment (listed be	e listed equipme		ovided	1	\$2,175.00	\$2,175.00
	Customer provided mag-light charger, C Radar, stop stick, fil siren equipment and All wiring sufficient gfuses, and circuit br loomed and/or tape	On Comm Rocker e extinguisher, d misc. gauge to amp loce eakers to be pro	et modem and ante secure idle, rumble ad, all necessary h ovided. All wiring wi	nnas, r ardware			
	Submitted by: Jerry B	andy				Sub Total	\$21,138.97
	- · <del>-</del> -				Freight		\$390.00
/				}	Taxes	State Tax	If Applicable
DATE	<u>4/1/2010</u>				Notes	TOTAL	\$21,528.97
NET 30 [	DAYS. PROPOSAL '	VALID FOR 30 [	DAYS.		Page 3 of 3		
				/ \			
Office Use	Only						